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B.B.A. Examination, Dec. 2014
Business Mathematics
BBA - 102
(NEW)

Time : Three Hours | | Maximum Marks : 75

Note : Attempt all the sections as per directions.
A . |l wWoel @ IR '@ R
Section - A
Gus - &
(Very Short Answer Questions)
(#fy 71y 3t we=)

Note: Attempt all five questions. Each question
carries three marks. Very short answer is

required not exceeding 75 words.  5x3
P.T.O.
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Az : TN g e & ISR AfHTI TS gE dF 3D

1 21 ftrsan 75 Tl # srfaery IR snfeE 2|

1 1A= 2 3] findsa-L
‘._4 S |
afe A = 2 3|,
4 5|
5A-1 &1 aF FAafedl
2. 1, A=Y T3 % dnaat,
LB 1 4]
- ]
g ao|? "3 6 ,
3 1 4
A &1 gl e |

3. Differentiate y = (5x - 7)°.
y = (5x - 7)° & 3@dba s Hiforel

4. Prove that if A is non-singular matrix, then

(A1 = A,

Rig S afz A A R e g dr (A1) = A
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5. Define simple and compound interest.

greror 3k fifda ens o oRwfta @ifswel
Section - B
g - |
(Short Answer Questions)
(71g I wEA)

Note: Attempt any two questions out of the fol-
lowing 3 questions. Each question carries
7.5 marks. Short answer required not ex-

ceeding 200 words. 2x7.5

FrafaRaa 3 voat & @ 5l @ ol & I
5w vAs 999 7.5 3iF &1 21 ftrdsan 200
el B o7y IR e &l

6. Solve the following system of equation by

using Cramer's rule :

2x ~y=1,7x -2y = -7
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Prafataa wiieol & Had o6 ¥ & D -

2x -y =1, 7x =2y = -7

7. Where 60% of the number is added to 32,

the result is the number. Find the number.

e T/ &1 60% 32 ¥ FAZY W T& TR T
B & @ TR 9 Dl

®

What is complement of a set?
fesh de @ BT agr @l 8?
Section - C
@og - 1
(Detailed Answer Questions)
(fareger 3ok W)

Note: Attempt any three questions out of the
following 5 questions. Each question car-

ries 15 marks. Answer is required in detail.

3x15
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A : Frafefed 5 gt & } SR @R 9o & 3T
Af5el 5@ w4 15 3P B 8| [awga IR
e 1

9. By Gauss's elimination method, solve :
5x =y - 2z = 142
X -3y -z=-30
2x -y =3z = -50
it venfimee derg & & i -
5x -~y - 2Z = 142
x-3y-z=-30

2x -y -3z =-50

10. Find the number of permutations of the word:

(a) MANAGEMENT

(b) MISSISSIPPI
18037\19000\5
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PrafefEa ol & ToReHa & 1 adgd
(&) MANAGEMENT

(@) MISSISSIPPI

11. Ify =[\E+J§;\.

then prove that :

dy [(x_a
ZXYE-E_LE x}'
X a
“ﬁ“[?\l;]
ar faz oo
dy (x_a
nya_[g x]

12. (a) Differentiate x2 with respect to x°.

x2 @ x> & GN& Hgbhe DT
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|
(b) Find maxima and minima of Y = OE-E.
log x
y = &1 3fdad R FgATH JF I
s |

13. (a) If"C, ="C,,, find the value of "C, ..

12f

af& 'C, = "C,,, @ "C,, B AF F Bl

12¢

(b) If'8C_=18C__, find the value of r.

afg 18C_ = 18C_,, @ r &1 HE 3Ta el

r+2 '
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